@ t= HAL : Bq/kg #2+

AiA | BREGBSA | BREUEAH |WERE| P'Mn | *PFe | *°Co | *7Zr | **Nb | 'Cs | Cs | M"'Ce | "K”
29 % 4 B 14 B JI=A * % * 2 £2 * 8.8 * 570
T ok * * * * % [10.1] = | 580
123 * * * * * * [ 9.6 | % | 570
P 204F 7 H 6 H g )
RIS T g | % * * * * % | 8.4 ] % | 550
TEARAS 294 10 5 19 B =X % * X % * % | 8.5 | % | 580
i | ok % % % % * | 8.5 | 3k | 560
504 18 11 8 12} * * % 3k 3k % [ 9.3 | % | 570
E | ox % % 3k 3k % |10.9| % | 610
20t 4 14 1 123 * * * * % | 1.1]6.8 | % | 527
E | o* * * * * * [ 6.0 % | 52
204 75 6 B 17 * * * * * % | 4.8 % | 490
RIS T CEA IS % % * * % | 4.4 | %k | 506
p| # F? 2 4 10 H 19 5 [ | sk | ok | k| k| k% | 1.8] % | 524
5 g | ok * * * * x | 1.6 | % | 518
’ 1 k | ok | ok | ok | sk | sk | 3.7 | %k | 530
304 1 H 11 A
E | ok % % 3k 3k * | 4.1 | %k | 524
(3%5) | 29411 A 16 A A N
g | ok * * 3k sk x | 3.9 | %k | 530
17 * * * * % | 1.4 | 11.1] * | 690
204 4 18 H g "
hE | ok * * * : % [12.3] % | 650
28 * * * * * 1.2 [10.5 | = 680
204 TH1LH HE | x * * * * % |12.1| % | 650
Yoz g = .
o4 204 10 A 17 B JI=A * * * * * | 1.6 | 14.1| sk | 670
g | ok * * * % | 1.5 [11.4] % | 630
158 k * * * % 10.92[10.8| 3k | 680
304 1 H10H
e | ok % 2 % % k [10.0| 3k | 660

WD Tk &, IND:#HEhd) 2R,

E2) KX, BAMAMERETH D,

E3) I E TORBISATICRBW T, k29 4E 10 HIZE XTI TWD Z A L77-9, Rk 29 £
FESF 4 WHHAD HEREUGIT 2 8 Lz, (CEAk 29 RS 3 B L O 4 BIEHFES THREE A, )

E4) 7E ) ICRHRBEOEFRIOBRBIGATICB T AHIEERTH 5,

) 1) ICHEHBOLE TR ORBUEFTIICBIT AHEINEORK 2B EIZTH LT,
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& BEEY EAAT : Bq/kg A=

gf(ﬂ,% *%H‘Xiﬂjuﬁ% *%E‘yﬁgﬂ E {Eu/rj:j—%%rg 54Mn 59Fe 60CO 952r ‘MNb 134CS 137CS 111Ce 13112) /IOKB)

HE BT T 202 10 A 19 B oo kD] sk | ok | ok | sk %k * * S 718

% | THIkSE g | sk | sk | ok | sk | sk % * % / 169.8
* ,
2R .

ﬁj@fﬁm 294104 17H| hE | % | %k | k| % | *x % * * | 72.3

T IR T 29t 7 A 7 H [I=N % | ok | ok | sk | ok % |o.013| % 37,7

j\ INTFAE g | ok | ok | ok | ok | % % [0.015] * S 138.4
A IR T /

” 1£§”mj;m 284E TH ILE | e | k| k| k| k| k[ ok |0.015] k% |/ 40.9

IS /

Y| At O I .0 0 .00 T O L . /180.0
S| A F i | ok | ok | ok | ok | % % % * |7 72. 4
/& N 2 —4=— I’

1;;”%; 29912 H TH| % | k| k| k sk k % * %k /] 92.6
[ | R %0 12 1 13 1 1= % | ok | ok | k| sk % |o.012| sk ! |52.6
x| kB R | sk | sk | ok | ok | ok % |o.o17| x|/ |71.2
2R ;
%;k Zﬁ? 29128 TH| FE | k| k| k| x| sk % * * | 78. 7
S 1
e il i) 20 4 7 24 B 1=} < | ok | % | x| % % % % /1 30.2
8T e | ok | ok | ok | % | % * * * ;130.4
E | s !
;}g 12”%; 304 1 H20H | e | sk | %k | 3k sk k * * %k !136.7
OO T 0 . T 0 0 . O B . /1355
Y 5 35T F &% | k| k| x| % % % * |/ 36. 0
2| s N I 0 0 0 B O O .0 R X
Yo wrT i | sk | % | ok | ok | % | sk o.o0s3] % | |124.4
PRE——
155 m;;h 304 1 A 11 B | T | %k %k £ %k % * S * [58.9
FEN A T I=8 % | k| sk | ok | ok k * k | sk |49.5
,?E I] . 304F 1 A 29 H
H g | ok %k %k % %k %k * S * | 47.7
L d) ] 304 14 10 B 1=8 % | sk | ok | ok | sk % |0.012| %k | sk |54.3
i B 3 e | ok | ok | sk | sk | ok % * % | % [51.7
AT T 20 11 5 13 B 1=} % | ok | ok | ok | sk % [0.014| % /133.0
? E R | ok | sk | ok | ok | ok k |0.012| sk /1330
b ’
A | 2R 29 11 5 20 A 1A % | ok | sk | ok | ok sk |0.021| sk 38.0
I 58T RE | sk | sk | ok | ok | sk k |0.020| % |/ 40. 2

ED Tk & IND: ST 2£7,
H2) "' OBALIE, Ba/L THD,
E3) UKid, AR TH S,
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BT : Bq/kg 4

giﬂ% *}T&H‘Xﬂﬂ‘ﬁ% %Téﬂ‘yﬁgﬂ E {EUE%FQ 54Mn 59Fe 60CO 9521” QSNb 134CS 1.’57CS lllce 13112) 10K3)
FIG T oD ok | ok | % | % [0.024]0.23 | % 130.2
T\HH il 204¢ 5 /1 17 H
%R g | ok % * 3k EX * 0.24 | * 122.8
I R T
294 5 H 2R | E | % % * * * % 0.11 | * 137.6
=
P S TENFTI T
% N m? 204F 5 8H | & | * | k% | kx| & | % * ] 0.21 | % 140.7
oA
-] JI=A * * * * % k |0.142| 142. 4
204 4 A 25 H
&4 hE | ok % * * %k * 0.13 | = 134. 1
511 JI=A * * * * % 10.034] 0.21 | =% 138.0
204 5 1 H
JIE | ok % * * * * 0.16 | * 131.7
LK * * * * * k [0.017| % % | 48.6
204F 4 A 13 A
g | ok % * * % * * * * | 48.8
JLX * % * * * * * * * | 47.0
294E 7TH 18 H
551 g | ok % * * % % * * * | 46.2
S5 IR * % * * * % [0.020] % | 48.5
20410 H 18 H
g | ok % * * % * * % % | 47.2
JI28 * % * * % * 10.018| % | 47.3
304 1 A 16 H
JE hE | ok % * * * * * * * | 47.1
7L B[ x| % | % | % | % | % |o.017| % | * | 47.5
204E 4 A 13 H
hE | ok % * * % * * * * | 45.4
JLX * % * * * k [0.012]| % * | 46.0
204 7H 5 H
1T hE | ok | x| ok | ok | % % * | % | 47.4
Tt+F LA * % * * * * * * * | 45.0
204210 4 H
g | ok % * * % * * * % | 44.5
JI=X * * * * * * * * % | 48.6
304 1 A 10H
A | ok |k |k | ok | ok ]k * | ok | k[ 47.3
ED k% IND:fHERT) 2F7,

*2) YT OHME, Ba/L THD,

£3) “Kix, BRBIMEERTH S,
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® fEEEY

BN : Bq/kg 4

%iﬂ'% *%E‘Xﬂﬂ/ﬁ% BT&E&QEH Ei JE\UE%F@ 54Mn 59Fe 60CO 9521,, QBNb 13/1CS 137CS 111Ce 1311 /lOKZ)
294E 6 H6H | i | k| % * * * * [ 0.27 | % % | 52.2
o 204 9 A 11 A | W | * % * % % k | 0.24 | % k| 56.1
FEN AR T
LT H
2412 H 4R | thE | * % * * %k * [ 0.22| % % [69.9
30 3H2H | &E | * % % % * % |0.157| sk * [53.9
JI=A * % * % % k |0.101| * k |63.2
294 6 H6 H &
hE | % % * % % % |0.089| % % [63.0
12 * % * % % k| 0.12 | % * | 72.7
L1294 9H 11 R
T RIR T g | ok % % %k * % 0.12 | =* * [74.9
SR JI=X * % * * * * 10.070| sk * 179.0
s 29412 4 H
L mE | ok % * % % k | 0.11 | * * [80.5
IR * 2 %k * * %k 0.14 | = * |58.6
304 3 H2H G
hmE | % % * % % * 0.12 | =% k | 78.7
294 6H6H | TE | % % * * %k * [ 0.10 | * * | 60.2
e | oo [294F 9H 1L H | FEE | k| ok | k| ok | k| sk [0.069] x | %k |78.9
| AR
b
g 294E12 A 4 H | E | * * * * % * [ 0.11 | * * |80.8
30 3H2H | HE | * %k %k % % % [0.094| *x * | 72.4
JI=A * % * * % k |0.059 | * | 61.4
204 6 4 12 H
FE | ok % * % * k |0.033| % * [61.6
] - 1=A * % * % * k |0.069| * % [81.9
WO TH | 294 9 A4 H :
a B mE | ok % * * * k |0.079| % % [79.0
. JI=A * %k * * %k k |0.092| % |85.2
CefMBHE) 129412 A 6 H
hE | % % * % % % |0.089| x % |84.9
JI=A * % * * * k |0.092| % * | 77.6
304£ 3H7H
hE | ok %k * * sk k |0.064| k| 82.1
HE1) T %, IND: B EhT) %1,
E2) Wik, BREGHEEFETH B,
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@ K

AT : mBq/L

B S 4 BEAFEA H HEFE| "Mn | ¥Fe | ®Co | ®Zr | #Nb | ®'Cs | "Cs | "'Ce
1A %D * * * * % 3.3 *
294F 5 H 25 H - " " " - - - ” -
B
LK * * * * * * * *
294 8 H2 H
51137 1 R * * * * % * 2.5 %
1=K * * * * * * * *
204E11 A TH oy " " " - - ” ” .
B
304 2 H 8 H
g % * * * * * * *
294 5 A4 25 H
204 8 A 2 H
pa—- g * % * % * * * *
o 294E 11 H 7H - x x x x x x * x
) g % % % % % % % %
I % * * * * * * *
304 2 A 8 H
g * * * * * * * *
294 5 H 25 JI=8 * * % * * * * *
. g * * * * * * * *
=N
294E 8 H 2 H iy - - " - " - - »
R o :
) 29 tE 11 4 7 H 2! % % % % % % % %
= * * * * % % 2.9 %
LA * * * * * * * *
304 2 4 8 H
g * * * * % % 3.9 *
204E 5 5 25 H HE % * * * * * | 4.0 %
204 8 42 H g * * * * * * * *
FRARAE
204E 11 A 7H g * * * * * * * *
304 2 4 8 H g * * * * * * * *
1=K * % * % * % 4.0 *
294E 5 H 25 H
& * * * * * % 3.8 *
204E 8 A2 H
- g * * * * % % 3.2 *
1] ey
20411 H 7H - x x * x x x * *
hEE * * * * * * 2.7 %
304£ 2 A 8 H
ELD k) %, IND:BHEnT] 2FT,
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BT : mBq/L

ﬁﬁﬁﬁ/ﬁ% T%H‘yfﬁﬂ E' @\”E&EE@ 51Mn 59[:6 SOCO 95Zr 95Nb IBAICS 137CS Mlce
294 5 A 25 H E kD * % * * * 3.6 *
294 8 H 2 H g % * * * % * * *
AR,
294611 H 7H HE 3 % * * % * * *
3042 2 H 8 H HE * * * * * * * 22
2045 H 25 H g * * * * % * * %
Lo B 204 8 H 2 H g * % * % % % 3.0 *
y & g
Hok o
294E 11 H 7H & * % * * % * 3.9 %
304 2 H 8 H g * * * * * * * %
204E 5 4 25 H HhEE * * * * * * * *
294 8 H 2 H g % * * * % * * *
Bk A AT
294611 4 7H g 3 % * * % * * *
304 2H 8H i * * * * * %k % %
204E 5 25 H R * x * x x x = =
294 8 2 A LA * * * * * * * *
3 FHERL N 4 SH% HE * * * * * * * %
oK A 2911 5 TR 121 % % % % 3% % % %
i * * * % % % 3.3 *
1A * * * * * * 4.6 *
304 2 8 H
1A * * * * * % 4.7 *
2094 5 H 25 H
F g * % * % * * 4.2 *
2% 8A2H R * * * * * * * *
5 SRk AT
294E11 H 7H - * * * x * x x x
304 2 8 H
w1 Tk i, IND: i &SN 2%,
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BT : Ba/kg #2 1=

T}Téﬂiﬂﬁ,ﬁ% ﬁéﬂiﬁiﬂ E' {Euﬁ%sg 54Mn 59Fe GOCO QEZr 95Nb 13/1Cs 137CS IMCe 10K2)
JI=R *D | % * * * * % * 710
294E 5 H 25 A
&g | ok * * * * % [ 0.85 | % | 690
JI=A * * * * * * * * | 720
294 8 H 2 H
51197 1 B | ok * * * * * * * | 700
Al ]
W ®2 | sk | ok | ok | % | ok | 1.4 | % | 840
29411 H 7H
hE | % * * * * * 1.2 * | 870
JI=8 % % % % % % % % 670
3042 2 A8 A A7
R |k * * * * % [ 0.61 | % | 675
JI=A * * * * * * * * | 590
294E 5 H 25 A -
hE | ok * * * * * * * | 682
JI=A * * * * % * * * | 730
294E 8 A2 A
EhA FE | % * % % * % * * | 690
s 20 11 B T B[ x| ok | % | sk | % | % | 11| % | 850
hE | % * * * * % [ 0.63 | % | 740
IR % %k % sk % k % %k 670
304 2 H8H i
HE | ok * * * * * * * | 640
JI=A * * * * * * * * | 640
294E 5 4 25 A
g | ok * * * % * * * | 590
JI=X * * * * * * * * | 620
294 8 H 2 A
[S—— B | ok * * * * * * * | 613
BRI Hol x| ok | ok | x| ok | x| x| % | 640
29411 H 7H
| % * * * * * * * | 626
W k | ok |k | ok | ok | % * * | 670
3042 2 A8 A i
BE | ok * * * * * * * | 620
294 5 425 H | i | % % * * * * * * | 544
204 8 A2 H hE | ok * * * * % * * | 575
FRARTE
29411 H 7H | 1 | % * * * * * * * | 422
304 2 A8 H FE | ok * * * * * 1.0 * | 580
1=K * * * * * * 2.7 * | 720
294E 5 A 25 A
REE |k * % * * * 2.4 * | 690
JI=X * * * * * * 2.5 * | 680
294 8 H 2 H
g | ok * * * * * 2.3 * | 680
NI v 1=K * * * % * % 1.7 * | 710
29411 H 7H
E | * * * * * * 2.6 * | 690
JI=8 % % £ * * * 2.0 % 710
3046 2 48 H Q
R |k * * * * * 2.3 * | 700
ELD kg %, IND:BEEnT) 2F£7,

F2) “Kix, BB TH S,
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